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PART A: Vocabulary

10-

Researchers are investigating why chocolate .................... headaches in certain
people.

1) constitutes 2) reveals 3) submits 4) triggers

An important objective of education in any country is the .................... of that
country's cultural values.

1) participation 2) prohibition

3) promotion 4) prediction

The large black clouds looked ..........covvvienn s S0 the garden party was canceled.
1) ominous 2) obsolete

3) ornamental 4) omnipotent

Sculptors use tools such as hammers and chisels to .............c.o0.. statues from

stone.

1) coax 2) carve 3) cling 4) compel

The kidneys play a .................... role in maintaining health by removing

impurities from the bloodstream.

1) viable 2) vital 3) vigorous 4) voluntary

Many psychologists are of the opinion that an unhappy family life is likely to
«esasesss Children’s learning.

1) inhibit 2) initiate 3) invoke 4) insert

Recent research shows that most people need to increase their daily
.................... of fruit and vegetables.

1) convention 2) coordination

3) contribution 4) consumption

Mr. Akbari does a lot of charity work, but his .......ccovviinnnn forbids him from
talking about it.

1) utility 2) modesty 3) fidelity 4) audacity

There are many superstitious beliefs which are .................... among the people
who live in Europe.

|} prevalent 2) profound

3) precious 4) paramount

The new student made a few errors on his essay, but the supportive teacher
.................... them.

1) overestimated 2) overwhelmed

3) overlooked 4) overlapped
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark the correct choice on vour answer sheet.

Another principal structure in a Mesopotamian city was the ruler’s palace, a large
compound (11) ...coccvirievnennen private residences, sanctuaries, courtyards, and
storehouses. (12) ....cooovvveniennn. the ziggurat and the palace were (13) .oovviiiiinininnin
with bas-reliefs and inscriptions that (14) ............ceasvw. cultic practices and civic and
military accomplishments. Gates and important passageways were flanked by massive
sculptures of mythological guardian figures, usually (15) ......cooiiiiiinnn, @ human head
on the body of a winged bull or lion.

11- 1) contained of 2) contains of 3) of containing  4) containing
12- 1) Both 2) Either 3) Neither 4)Not only
13- 1) amended 2) adorned 3) acquired 4)assembled
14- 1) demanded 2) devoted 3) detected 4)depicted
15- 1) possessed 2) possessing 3) possesses 4) possessive

PART C: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

The Aztec numerical system differs from ours in many ways. Our way of counting is
cialled a decimal system—a system whereby we count in units of ten—whereas the
Aztecs employed a vigesimal system. Their way of counting relied on units of twenty.
The roots of these approaches are believed to be the ten digits on our hands or all digits,
on hands and feet. Moreover, the Aztecs used a subset of units of five with their
vigesimal system. Nahuatl number words clearly reflect this approach, where the
Nahuatl word for “six™ literally means “five plus one.” Such an approach is not totally
unheard of even in modern languages. For example, consider the French way of
referring to “eighty” as “quatre-vingt,” or “four times twenty,” and “ninety” as
“quatre-vingt dix,” or “four times twenty plus ten.” To refer to numbers larger than
twenty, the Aztecs employed a technique very similar to that of the French. For
example, to refer to “thirty,” they would use the expression “cempoalli ommatlactli,” or
“one score (i.e., twenty) plus ten.” As numerical values go up, they eventually will reach
400, or twenty times twenty. That number was called “#zontli,” meaning either “hair” or
“growth of garden herbs,” which are terms that refer to an abundance of things. The
third power of twenty, or 8,000, was called “cenxiquipilli.” The latter term contains the
word “xiquipilli,” or *bag of cacao beans.”

16- What is vigesimal system?
1) A system of counting in units of ten
2) A system whereby we count in units of twenty
3) A system of naming objects developed by the Aztecs
4) A system of naming objects which has its roots in the French language
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17- Where does the idea of the decimal system come from?
1) Human beings have ten fingers.
2) Human beings have ten fingers and ten toes.
3) Ten was a sacred number among ancient people.
4) Ancient people were not able to count bevond ten.
18- What does the word “latter” in line 16 refer to?
1) Xiquipilli 2) Tzontli
3) Cempoalli ommatlactli 4) Cenxiquipilli
19-  Which of the following can be inferred from the passage?
1) To Aztecs, “a bag of cacao beans™ showed a greater number than “growth of
garden herbs.”
2) The maximum number the Aztecs could think of was 8,000.
3) The Aztecs had an advanced knowledge of record keeping.
4) The Aztecs had a very good relationship with the French.
20- Where does the above text most probably appear?
1) An introductory textbook on mathematics for children
2) A book on units of measurement
3) A book on the Aztec civilization
4) A specialized research journal

PASSAGE 2:

The ancient Greeks were speakers of the Greek language, who first emerged as a
distinct civilization in the region of the Greeck peninsula in the eastern Mediterrancan
during the Bronze Age (before 1000 B.C.E.). They eventually came to occupy Europe
and Asia from France in the west to Egypt in the south to India in the east.

The Greek language is an Indo-European language, meaning it is related to languages
such as Irish, German, Latin, French, Russian, ancient Hittite, and the dialects of Iran
and India. All these languages derive from one postulated original language called
*Proto-Indo-European (the * means that the language has never been encountered but is
a theoretical reconstruction). The relationships among these languages were discovered
by the Grimm brothers, the same men who collected German fairy tales. They noted
that several languages used very similar words to express the same concept, leading
them to conclude that these languages evolved from a common ancestor. For example,
the word for father in Latin is pater, in Greek patér, in Vedic (India) pitar, in Irish athair
(the p has dropped off), in German Vater, and in English, of course, father. The Greeks
were descendants of this large linguistic family, and the Greeks themselves are therefore
related to many other inhabitants of ancient and modern Europe, Persia, and India.

21-  Which of the following would be the best title for the passage?

1) Ancient Greece 2) The Greek Peninsula
3) Indo-European Languages 4) The Greek Language

22- Which language is the Greek language most probably NOT related to?
1) Latin 2) Russian 3) Indonesian 4) French

23-  Why does the passage refer to the Grimm brothers?
1) They collected ancient Greek fables.
2) They were interested in learning European languages.
3) They proposed the term Proto-Indo-European languages.
4) Theyv first observed similarities between certain languages.
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24-  What does the pronoun “them” in line 12 refer to?
1) German fairy tales 2) The Grimm brothers
3) Similar words 4) Several languages
25- Why does the passage give several examples of the word related to "father" in
different languages?
1) To suggest that the word "father" is universally the same in all languages.
2) To prove that many languages derive from supposedly the same language.
3) To emphasize the importance and respect given fo fathers among ancient Greeks.
4) To demonstrate that the Greeks were descendants of a large linguistic family.

PASSAGE 3:

The system of writing used in the ancient Middle East is called cuneiform. The name, a
coinage from Latin and Middle French roots meaning “wedge-shaped,” has been the
modern designation from the early 18th century onward. Cuneiform was the most
widespread and historically significant writing system in the ancient Middle East. Its
overall significance as an international graphic medium of civilization is second only to
that of the Phoenician-Greek-Latin alphabet.

The origins of cuneiform may be traced back approximately to the end of the fourth
millennium BC. At that time the Sumerians, a people of unknown ethnic and linguistic
affinities, inhabited southern Mesopotamia and the region west of the mouth of the
Euphrates known as Chaldea. It is to them that the first attested traces of cuneiform
writing are conclusively assigned. The earliest written records in the Sumerian language
are pictographic tablets from Erech (Uruk), evidently lists or ledgers of commodities
identified by drawings of the objects and accompanied by numerals and personal names.

The Sumerian writing system was adopted by the Akkadians, Semitic invaders who
established themselves in Mesopotamia about the middle of the third millennium. In
adapting the script to their wholly different language, the Akkadians retained the
Sumerian format for more complex notions, but pronounced them as the corresponding
Akkadian words. They also kept the phonetic values, but extended them far beyond the
original Sumerian inventory of simple types.

26- What is the passage mainly about?
1) Mesopotamian language varieties
2) The Sumerian civilization and achievements
3) The writing system of the ancient Middle East
4) Communication systems in the ancient world
27-  Which of the following statements is true?
| ) Cuneiform was most probably developed by the Sumerians.
2) Cuneiform was widely studied in the eighteenth century.
3) The term cuneiform was coined by the people in the Middle East.
4) Cuneiform has many similarities to the Phoenician-Greek-Latin alphabet.
28- What does the word “medium” in line 5 mean?

1) Root 2) Process 3) Means 4) Goal
29-  What does the pronoun “them” in line 10 refer to?

1) Unknown people 2) Sumerians

3) Traces of cuneiform 4) Mesopotamians
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30- What did the Akkadians do to cuneiform?
1) They ignored it and instead developed their own writing system.
2) They changed it to a wholly different language.
3) They destroyed it after invading Mesopotamia.
4) They kept many of its elements and features.
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